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QUESTION 1

Which type of storage replication is required, at a minimum, for a non-critical application?
A. Synchronous

B. Asynchronous

C. Semi-synchronous

D. Multi-synchronous

Correct Answer: B

QUESTION 2

The storage administrator is required to create five zones within the FC SAN. Which Fibre Channel server would be
used to do this?

A. Fabric Login server
B. Name server
C. Management server D. Fabric Controller

Correct Answer: C

QUESTION 3

Which process allows for the reduction of disk space consumption on a shared storage of OS images used by 200
users?

A. Thin provisioning

B. Deduplication

C. Synchronous replication
D. Defragmentation

Correct Answer: B

QUESTION 4

A business critical enterprise resource planning (ERP) system uses a central database at a company\\'s primary data
center. The company has built an out-of-region disaster recovery data center and intends to implement a standby ERP
system with an eight hour RTO and 30 minute RPO.

Which architectural approach to implement service continuity for the ERP database will meet the RTO and RPO
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targets?

A. Implement asynchronous replication of the ERP database, application, and middle tiers to ensure the ERP system is
back online with less than 30 minutes of data loss within eight hours of an event.

B. Implement asynchronous replication of the ERP database, application, and middle tiers to ensure the ERP system is
back online with less than eight hours of data loss within 30 minutes of an event.

C. Perform daily full database backups to tape and overnight ship the backup tape media from one data center to the
other to ensure the ERP system is back online with less than eight hours of data loss within 30 minutes of an event.

D. Implement synchronous database replication and configure application logic to ensure transactions are identical in
both data centers as the recovery objectives do not allow for any inflight data loss.

Correct Answer: A

QUESTION 5

You determine that throughput between a server and an FC storage array is lower than expected.
Your privileges only allow you to change the configuration of the HBA on the server.

Which configuration setting can you change to increase throughput?

A. Queue length

B. Queue depth

C. Topology

D. Class 1 service

Correct Answer: B
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